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Appendix 1 : BASIC program for 51000

10 NP=0; YC=0:NX=0:R2=0:DN=0:C=0:F2=0:W2=0:
EP=.000001 : K=0:X=0:Y=0:WlL=0

20 s = tL2=0:L=0:U=1:B2=0:B=0:RM=0:
M = IX=0:V2=0
30 XB= :¥YX=0:N=1000:¥YB=0:BX=0:Ll=0:

Z=0:P=1.0001
40 DIM RR(N) : RR(D) = 4 : L = DXSQR(N/W) : L2 = IaL : L1 = L2/4
100 FOR XB =Z TO L/SQR(D) : B2 = XBAXB : IX =XB : IF XB=2 THENIX =U
110 FOR YB = LX TO SQR(L2-B2) : B = B2+YB&YB : PRINT TIg ; XB, YB
120 FORXC=Z TOL : BX = BX#XC : C2 = XC#XC : YX = YB#XC : Ml = 2 :
M2 = (B~C2)/P : IF M2>2Z THEN Ml = SQR(M2)
130 RM = 2 : HI = P#(B-XB&XC)/YB : IF HI <Z THEN NEXT YB : NEXT : GO TO 260
140 RM = SQR(L2-C2) : IF RM>HI THEN RM = HI
150 FOR YC = INT(RM) TO M1 STEP -U : C = C2+YC*YC
160 DN = Dx(YX-XB&XYC) : IF DN = 2 THEN NEXT : NEXT : NEXT : NEXT : GO TO 260
170 NX = YBAC-YC#B : NY = BX-XBAC : S = NXaNX+NY#NY : G = DN&DN : R2 = S/G
180 IF R2» L1 THEN NEXT : NEXT : NEXT : NEXT : GO TO 260
190 Y =NY/DN : X = NX/DN : NP = 2 : F1 = SQR(R2+EP) : Wl = W-F1
200 IF W1¢>INT(W1) THEN W1 = INT (W1+U)
210 FOR K = W1 TO X+F1 : F2 = X-K : F2 = SQR(R2+EP-F24F2) : W2 = Y-F2
220 NP = NP+INT (Y+F2)-INT (W2) : NEXT
230 IF NP» N THEN NP = N
240 IR = G/S : IF RR(NP)> IR THEN NEXT : NEXT : NEXT : NEXT : GO TO 260
250 RR(NP) = IR : NEXT : NEXT : NEXT : NEXT
260 OPEN 1 : FORK = N TO U STEP ~U : PRINT = 1, RR(K) : NEXT : CLOSE 1 : END

This first program computes the r;z and stores their values in the table
RR(K), then in the file # 1. The latter is exploited by the program below which
computes the £ (the conjecture in §.1 is that rf =1, for k»3) and then
caputes §  for n =M.

10 K=0:N=0:PT=0:TfT=0:L=0:M=0:8MM=0:E=""
20 INPUT "TAB LENGTH" ; L : DIMI'(L) : OPENl : FORK = L TO 2 STEP -1 :
INPUT # 1, T(K) : NEXT : CLOSE 1

PT=0:K=1L

IF T(K) = O THEN K = K-1 : GO TO 40

MX = K : PRINT "MAX.TAB = " ; MX : FOR K = MX TO 2 STEP -1 : IF T(K)< PT
THEN T(K) = PT : NEXT : GO TO 70

PT = T(K) : NEXT

INPUT "TOTAL FROM 2 TO" ; SM : IF SM»MX TEHN 70

TT =0 : FORK = SM TO 2 STEP -1 : TT = TI+T(K) : NEXT
PRINT SM ; TT/T ; TT/W -LOG(SM) : STOP : GO TO 50
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